LITERACY!
NUMERACY!

Re-read your book on Active Learn out loud to
someone at home.
Revise the th words you came up with on Tuesday.
Can you think of any more th words? Write them in
your jotter.

Watch this video to revise multiplication and help with
the following tasks:
Multiplication continued

Choose a multiplication exercise from the next pages.
Use objects you have at home to help you, such as
pencils/blocks/marbles/beads etc.

Look, read, cover, spell and check the next 5 Fry’s
words (or, one, had, by, words).
Write these words in rainbow colours. Make sure you
are joining the t and the h and that your
handwriting is very neat!

P2 Activities

A note from your teacher

Please complete these tasks in the jotter provided each day. You will be able to share
your learning when you return to school.

OTHER!

Health and Wellbeing:
It is important to recognise our achievements. You have learned so much since you
were a baby! With an adult, make a list of all the things you have learned to do since

you were born.
How did you learn to do these things?
Were you just suddenly able to do them, or were there some things you had to
practise lots?
What achievement are you most proud of?
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p 1. Copy and complete - (For example, 2 x 1= 2). ‘
D 44 i2x2=.L b 2x3:= c 2x4=.. i
» e s
:; d 2xb=.. @ 2x6z=.. P EXT R,
: g 2x8=.. h 2x9:=.. 2 x10= ..
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Spicy:
3. What numbers are missing ?
a 325 =% b=22:x...=8 c 2x..=12
d- 2 %18 e 2x..=0 f 2x..=14
g 2x..=16 h 2x..=10 i -2z 20.

4. a Thereare 2 nestsinabarn.

Each nest has 4 chicks.

How many chicks are there altogether ?

b Every room in my house has 2 electric sockefts.

My house has 7 rooms.

How many sockets in total ?

Beryl and Meryl both have 8 plums each.
What's their total number of plums ?




Hot:

Multiplying Two Digit Numbers

by 2

Be able to

Example 1 What is 7:3 x:2.7

We can multiply a 2 digit number, (or times it) by 2.

multiply a 2 digit
number by 2.

2x9:=18
~ = 8 units

carry 1ten

1. Copy and complete :-

a 12 b 26

X:2 X2
d 56 e 75

x2 X2
g 49 h 53

x2 x2

2. Find:-

a 14x2 b 45x2
d 54x2 e 80x2
g 79x2 h 83x2

36 x 2
67 x2

98 x 2.



